
Money Word Problems KS1 

 

1) A lolly costs 10p and a sweet costs 5p. How much will 

they cost altogether? 

2) Vaz has 20p. He spends 5p. How much will he have left? 

 

  

To access the 4 complete worksheets (including answers), with 10 

questions on each, at these levels of difficulty: 

  numbers up to 10 

  numbers up to 50 

 numbers up to £1 

  numbers above £1 

 

 visit 

http://www.saveteacherssundays.com/maths/year-2/133/money-word-

problems-ks1/ 

 

where you will also find similar word problems for other year groups 
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